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3.3 Function Compositions

Einding Domain Algebraically

Polynomials and Odd Roots

o: Al reals

ex: Find the domain. State the answer in set notation.

a) y=x4_2x+1 2X|X‘6"R\ ov C""OO/ 00\

(| YER)

b) y=Yx? +2x-3



Even Roots
set the

D:  radicand > O

ex: Find the domain. State the answer in set notation.

oy=4Yx+1 X ZO0O g“x-}’(}

Xz -\

d)y=\/__x "7( O i?(l)(ﬁ O?
Y £ 0

W



Fractions f(x)
involving Fractions: V= ¢(x)
polynomial -
functions D: 56‘" g40=0
festrictHons

ex: Find the domain. State the answer in set notation.

oyt Ix=5=0 fxlx$2

2x-5 _ 5
X==




ex: Find the domain. State the answer in set notation.

x=Tx*+1 s _
Hy=2" -9=
; x°=9 X ~ O gx])(it'b]}

—— > X =9
-3 3 X=%3
(o3 (-3,2)V(3.2)
3 2 2 _
g)y=x—j7x +1 X.l.ﬁ_p
X +9



ex: Find the domain. State the answer in set notation.

"V y=x"—§x+2 QX)X-:),QE

N =3x+2 =
(x-22X-D=0O
X=1,2_




ex: Find the domain. State the answer in set notation.

Look at each

RN 7" B
D) ) j{x \2{: jx [)( 2 O\i term's domain

Xz0 a'gﬁ\g The domain
1
will be the
intersection

3 Y- Q/i -vx é X ‘ X2 03 of both domains

(
LRE



ex: Find the domain. State the answer in set notation.
3x-1

K y=
Vvx+9

vx+9

3x-1

Iy y=-



Function Compositions

(Fog)(s)= £ (5()
(gof)(x)= ’ GD [><3>




ex: Let

Find the composition, if possible.

) (fog)(l) = |

p

(
(

X

=x-10x+25



ex: Let

Find the composition, if possible.

o) (nom)(0) = G,

p

(
(

X

=x-10x+25



ex: Let

¥ -

=x-10x+25

Find the composmon if possible.

0 f@) V32 = 4i%



f(x)=s/; m(x)=x
g(x)=€/; n(x)=x+5
h(x)=% p(x) x*-10x+25

Find the composition, if possible.

9=V (nonreal)



f(x)=s/; m(x)=x
g(x)=€/; n(x)=x+5
h(x)=% p(x) x*=10x+25

Find the composition, if possible.

o (Poh)(0) undefingd (r\o selokon)



To find the domain of a composite function f(g(x)).
1) Find the domain of g(x)
2) Find the domain of f(g(x))

**If g(x) has a restricted domain, the composite
will include that restriction



2

f(x)=s/; m(x)=x
g(x)=€/;\_/rzg%+5)
L] p(x)=x2—10x+25

Find the composition and state the domain.

s(ren =xr5  P0ZG

Gy %2 )




ex: Let
m(x)=x"

Jx
g(x)=€/; n(x)=x+5
1 p(x) =€12 —10x+25)

xv\\ 4/
Find the composition and state the domain. _
‘ Y-19K+25%0
b)(hop)(x) = = [px+25 (x-6) =0

ox[x5 L




ex: Let

Vi m(x)=x
g(x)'_'{/; n(x)=x+5
- P(x)=x2—10x+25

Find the composition and state the domain.

Blrom =3 =fx D ixlees]



ex: Let

f(x)=+x
o(x)= 5

L]

,.v

2
m (\) =X

n(x) =x+5

p(x) =x>-10x+25

Find the composition and state the domain.

(R = (X} =X §xlxzo

03



ex: Let

& (pon)(x) = (x+3)=10(x+5) *25
= DX 2S-SR S, D'

:X’—

2

m(x)=x

n(x) =§/+5)
p(x)=%’ hx% 25

Find the composition and state the domain.

ixiﬁé?“;



ex: Let

2

m(x)=x

n(x)=x+5

p(x) =x>-10x+25

Find the composition and state the domain.

e)(nOh = __'{'5

|+ Sx

xIxF b



3.3_Notes - WKST

Lol 8 (fog)(z):ﬁC(@(L))
= F()
v,
0. (8B _
= L

i (f@

£



3.3_Notes - WKST

n (gog)3) = 3

y=f(x)

)

12. (f° O

™

L Y=9(x)

*See printout.



REVIEW

If f(x)=x2+2x+1and g(x)=3(x+1)’,
which is an equivalent form of f(x)+ g(x)?
A x2+4x+42

B 4x*+2x+4

C 4x*+8x+4

D 10x*+20x+10



REVIEW

Which expression represents f (g(x))
if f(x)=x*—1and g(x)=x+3?

A x34+3x2-x-3

B x2+6x+8
C xX+x+2
D x2+8



REVIEW

ex: Simplify.

{‘/48)()71229

Q}5’|ZL\H/3XZ_



REVIEW

ex: Simplify.



REVIEW

Which is a simplified form of ?:_zf’:fc_; ?
f

¢ e

53

ab’cd



